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QUESTION 1

Because ii has usually been impossible to_________exotic species once they have become established, it is prudent to
minimize the introduction of such species that have a substantial probability of unwanted impacts. 

A. disseminate 

B. detect 

C. eradicate 

D. propagate 

E. extirpate 

F. differentiate 

Correct Answer: CE 

 

QUESTION 2

A. Quantity A is greater. 

B. Quantity B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: C 

 

QUESTION 3
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In the figure above, h is the height of triangle ABC from vertex B to base AC. What is the value of//? 

A. see the explanation 

Correct Answer: A 

Answer: 

 

QUESTION 4

Birds that prey on sage grouse generally hunt by circling over sagebrush and pouncing on sage grouse that come out
into the open. Where there are power lines, however, these predators often survey the ground while sitting on the power
lines. Although the area they can survey is smaller, predators sitting on power lines are more likely to catch sage grouse
than are predators circling in the air. because_________, 

The primary purpose of the passage is to 

A. explain why certain scientists rejected a particular hypothesis 

B. show how a conventional theory was weakened by a new discovery 

C. discuss a shift in an approach to explaining a natural phenomenon 

D. account for the widespread influence of a scientific theory 

E. trace the origins of a scientific dispute 

Correct Answer: B 

 

QUESTION 5

The essays in this collection, which explore the adaptation of literary texts to film, all (i)_________the view that the
fidelity of film adaptations to their literary precursors is (ii)_________. In fact, the authors of these essays broadly concur
that an emphasis on fidelity in film adaptations can be traced to an outmoded academic ideology that insistently prizes
the literary in a way that (iii)_________the value of the cinematic. 
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A. contest 

B. reinforce 

C. sidestep 

D. impossible to achieve 

E. a measure of success 

F. difficult to recognize 

G. echoes 

H. enhances 

I. subordinates 

Correct Answer: DE 
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